20225 E ERMEEFEXRZ[FEIDVUFR]
#1 B : 20224 10AR 238 (H)
= 15 RRILKREEHS £515
* # . BHME7-FI)-HE
T B BRI
X 1% : Bh
g Al : UYh—TEM 70m3oU K
JHh—760mERFT 60m3o K
AN7RIEFY  50m7oUF
VNIV RERFY 50mZo K
[Uh—T70mERF9 4 F)
JIE 52 K4 Bl AIF &5 | ¥ &5 | BEF | 10+XHEK X3
1 filH YE BHEEXEKRE 302 302 604 13 4
2| HE OE# Eiﬁl.—ﬁfx 312 285 597 15 4
3| #K IEE = a’ 303 270 573 10 2
4 xA 2 PRER 286 275 561 11 5
5| AWl Ehk &%ﬂ?%k; 285 264 549 9 2
6] HH =F —EmrBE 281 264 545 9 1
7] AR EEF —BEh7HBE 265 262 527 8 4
8] X¥ Hfs =ER 269 239 508 2 0
9 O EE BHEEXRE 219 263 482 1 0
100 WNHE #RE BFEXFXE 243 225 468 2 1
11 Z#h DAk BHEEXEKRE 226 232 458 3 1
12| KB F& TWEE 199 210 409 2 0
13] Wk ¥R T FE 187 184 371 2 0
[Uh—T70mERFT B F)
[:§iva K& & AIEEE | ¥ S5 | BES 10+X 3K X3
1 FEL %087 BHEEXRE 321 316 637 20 6
2|  EH X THEEXRE 310 307 617 13 5
3| 4H K | AEEMIMBEHZTER| 301 311 612 12 1
4 [H RS &%ﬂf’%ﬁ% 298 311 609 15 3
5 =% 2Em7HBE 299 310 609 7 3
6] #K K THEEXRE 304 301 605 15 3
7 H E SEm7HE 276 303 579 9 4
8 XK 1§ =EiR 275 287 562 12 2
9] EFH BHEZ L2EET7HE 260 272 532 5 0
10 KfA ZBH LEEMT7HE 226 253 479 6 1
11 =H &8 =i 224 230 454 3 0
XEHF =5 BHEERF
[Jh—J60mERFT)
Bz K4 P& BIF &5 | BFE5F | BEF | 10+XHK XE
1 ® o0 —Emr7BE 286 284 570 14 3
2| ZElll BE —EBh7HBE 284 274 558 8 2
[K7HRDERFE]
JIE 43z K& & AIESE | ¥ S5 | KES 10+X 3K X3
1 INT —H M Hm7HE 287 261 548 11 3
2| ™/)H SR EBHTT7HE 261 247 508 5 2
3| WE #A EHHG7HE 222 220 442 7 3
4 A EBHTT7HE 175 223 398 2 1




(33D FERFY])

JIB 1% K% iE AIEEE | BFESE | #£EF 10+X %k XE
1 AH FE G 7iHE 321 323 644 23
2 5H & —Bh7HE 307 313 620 15
3] WX ETX THEEXRFE 287 291 578 10
ABEOHFALGIEBRVENEGEEZUET., AAA




